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PART -I1I | ,
ouenfleas senflgn/BUSINESS MATHEMATICS

(a0 wHYILD é;{,rﬁ.lﬁ@ auyl / Tamil & English Versions)

Cryd : 3 wenfl ] [ Quorgs wHIQuaTseT : 200

Time Allowed : 3 Hours ] [Maximum Marks : 200
oiflaenr : (1) <ioass edamssenn slurs Lferd o drergr erergamar

slluriggs Qamarara)b. SiFslLSale @@pudmLidler imns
samareiriuTarid o L anguites COsfaildasa,b.

2 fob g swLuy evul@eea LLEGCL aWHMFHED,
24588 HausH@d LweauBss CeuamBbd. UL BS6T
aueyeugN@ Quenéled LweTLHSSew.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack
of fairness, inform the Hall Supervisor immediately.

(2) Use Black or Blue ink to write and underline and pencil to draw diagrams.

LGS - 31/ PART- A
Gty : () Siemensgl elamssErsEh elmLwalsse. 40x1=40
@ &G sruuL(BeTeT HTENE WLIHOI AenL_sefled @@p@ gflwmewt
efenLenwis Gsite) Qslig er(pgIs.

Note : (i) Answer all the questions.

(i) Choose and write the correct answer from the four choices given.
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1. AB=BA=|Allerafléd <iemfl B ereimiig :

(=1) A -@eir Cirompy () A -Gen BlagBlred wmpm
(8) A -Qen Geriiy (FF) 2A
If AB=BA =|A[I then the matrix B is :
(@) The inverse of A (b) - The transpose of A
(c) The adjoint of A (d 2A
08 06
= S A-1.
2. A (—0.6 0.8] eTafléy A-1:
-08 06 0.8 —0.6
(2 [_o6 03 S AT
08 0.6 02 04
@) (0.6 0.8] () (— 0.4 0.2)
. (08 06 .
If A= (—0.6 0.8) then A~ 1is:
-08 06 08 —06
(@) [— 0.6 0.8) ®) [06 0.8 )
08 0.6 - 02 04
© (0.6 0.8) @ (— 0.4 0.2}

3. @®m nxnaflesyerer L&flws Caraney siaflurs Qoerg aiufer sy :
(<) n - ()n? (@) o () 1

The rank of a non-singular matrix of order nxn is :

@ n . () n? (€ 0 (d 1



3

AX=B erenp swerur@seaer Hrmoflar weapuid grés Heopey Qe
Geuamq w1 Flupgener :

(1) [A]=0 () [A]#0 (@) A=B (7)) A=#B
The equations AX =B can be solved by Cramer's rule only when :

(@) |A|=0 ®) |A]#0 ) A=B (&) A=#B

o aef® - Qeuaflui® L@uLmieder GauauBL aurL9parer aprédlerey -
eswar fHubsmanseien eranamisEms :

(=4)1 (<=p)3 (@) 4 (/) 2

The number of Hawkins-Simon conditions for the viability of an input-output model
is: :

@ 1 (®) 3 ©@ 4 . @ 2

x2=4ay @Qle QUEGEUT :
(3) x+a=0 (<) x—a=0 (@) y+a=0 . () y—a=0
Equation of the directrix of x?=4ay is :

(@ x+a=0 () x—a=0 (c) yta=0 (d y—a=0

472+ 92 =36 @en Qacucusa Herbd :

4 : 8 4 8
(=) 3 () @ 3 (m) 3
The length of latus rectum of 4x2+9y*>=36 is :

4 8 4 8
@ 3. k) 3 © 3 | d 3

6078
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8. e L gdlar Bg gCsaubd gm Letefuler Gei$ Asrewesaiear am@so
| s Beridies s
(=) @oés () SOr&EDInEa
() OpLLés . | (F) ey QB Lés
 The sum of Focal distances of any point on the ellipse is equal to length of its
() Minor axis (b) Semi minor axis .

()  Major axis (d) . Semi major axis

9. xy=c?erety QFcucus 2furaimasfen vy Gnésss Serid a erafled c? Qe -
WAy : ' : -

. 2 : a2

(1) 22 (@) @r &

Tf a is the length of the semi transverse axis of rectangular hyperbola xy=c2 then the
value of 2 is : : ‘

@ a2 ® 2w g @ 72
10, Qsaeys smiyC = Tlﬁ e2* @6&1 Qi Hews Q&a)mrrmg,j :
(=) (@) %ez";_ @) 35 (7) e
For the cost function C= % e?* the marginal cost is :
1 1 o | 1 o 1

@® 15 - b e © % - @ e



11.

12.

13.

5 6078

x-3 QuIMsE y-@er Iy 6sb 6 G, x gl 4 SloGsaT/fenT. Grem

issHe wrNdps arald y garg 1 elamgd@ wImid eigoreng) :
(1) 24 S@@Gsa/eNarmy. (<) 10 S @s6aT/elei

(®) 2 swgse/elary () 22 Sio@se/edanty

If the rate of change of y with resp‘ect to x is'6 and x is changing at 4 units/sec, then the

rate of change of y per sec is :
(@) 24 units/sec | (b) 10 units/sec

() 2units/sec (@ 22 units/sec

y=1+ax—x? as%rm cueneTaienuié (1, —2) GT &M qmaﬂuﬁ]m udTHS
QsTHCETLTag) x NFssEE Gea crafid "a" uflen wHlLreTg) :

(@) -2 ()2 @z . - (m -1

For the curve yy=1+ax —x2 the tangent at (1, —2) is parallel to x axis. The value of "a"

@ -2 : (b) 2 © 1 @ -1

y=cos t Gogyid x=sin t rad CUMETOIMTES t = {- g5 QaTOESTLIg 6

Fmiieuneg) :
(o)1 (<2) 0 @ 7 (r) -1
The slope of the tangent to the curve y=cos t,x=sintat t= Z— is:

@ -1

-

& 1 ® 0 ©

[-Q@uqa; /- Turn over
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14, y=2x2-x+1 GT GO umeteuamrs@ (1, 2) ety Uaraludd GI_IGU)IJ'u_luuL_L
QsTRCHTR, 6T Comlihe Qeveamuns BmEGED ?

(@) y=8x - (@)y=2x+4 (&) 2xty+7=0 (w) y=5r-7
The tangent to the curve y=2x2—y+1 at (1, 2) is parallel to the line :

@ y=31 b) y=2c+4 @ 2w4y+7=0 (&) y=5r-7

15. y=4-2x-22 ergib mmmmmumﬁmg :
(1) CuaGprsd @ilourarg ‘(écb) &1 Corédl eurang
(&) e®m CpiGsr® (rF) @m¢@® @L&mmm’
The curve y=4—2y—42 is :
(@) Concave upward (b) Concave downward

(c) Straight line . (d) None of these

16. f(x, y)=2x+ye~%, erafled £/ (L, 0)-er oA :

1
(e)e (@l (@) ¢ (%) =
I f(x, y)=2x+ye~*, thenjg(l, 0) is equal to :
- 1
(a) e (b) % (C) e2 (d) .e_z_ ‘
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17. z=x~°’+3xyz+y3 erafled x Qe QmidHlenew &gbu(é,gﬂu_lrrm@ :
(%4) x2+y2 () 6xy + 3y (®) 3(>+y?) () (x2+y2)zk
If z=x3+ 3xy2 +:])3 thén the marginal productivity of x is :

(@) x*+y? (5) | 69?9 +3y° © 3@*+y?) @ @2+yH

18. Qeeeys smiy y=40—4x+22 erliQuIPE Ao wlemu S@LuD ?

()x=2  (@)r=-2 (@) x=1 (w) x=—4

Thé cost funiction y=40—4x +x? is minimum when :

(@) x=2 k) x=-2 © x=4 @) x=-4
2
19. [ x*dr:
=2
32 6 8
(o) % () 2 @ 5 (%) S
2
‘j‘_x4dxis“:’
-2
@ 3 ® = N

, [ plys / Tumn over
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20. y=e* eramp m@mmmu‘é;@m x-955, Car@aer x=0 LHOID x=2 QeuhHmrd
LMD Ly

(@) e2-1 () e+ (@) € () -2
The area bounded by the curve y=e¥, the x-axis and the lines x=0 and x=2 is :

(@) e2-1 (b) e2+1 : (c) e? (d) e2-2

21. @nfflea aumeumis &riiy MR=15-8x ereflad QUHEUM &L :

(1) 152 —4x2 +k (%)135_5_8 (@) -8 (/) 15x-8

The Marginal revenue of a firm is MR=15-8x. Then the revenue function is :

(@) 15x-4x2+k (b 1x_5 -8 © -8 d) 15x—8
22, —3—: ="V & Sirey :
(=) eYer=c (%) y=Ilog ce* (8) y=log(e*+c) (FF) e**¥=c

. dy ., .
The solution of —Z = *7¥ jg -
dx .

(a) eVer=c (b) y=log ce* () | y=logle*+c) (d) e* +? =c



23.

24.

25.

9 ' 6078,

dy 273 d2y . . .b . Lo ‘
1+ (ﬁ;) | =3 erémp swaLT_gen eufians wHmid Lig. epapGu :

(o) 3opgb2  (@)2whpb3 (@) 3oppd3 (W) 2wppd2

' 2
. 213 2
The order and degree of |1 + (iy_) =LY are:

‘(a)-3and2‘ - {b) 2and3 () 3and3 - (d) 2;nd2

(14 2L + 3y = (14 22)° -an QprensiSi @ sryeaf:

(@) 1+ 2 | (<) log(1 +1%)
(@) e 'x : - (%) log (tan~x)

4 ,
The integrating factor of (1+ xz)a% +xy=(1+ x2)3 is :

@  V1+ 22 (b) log(1+x?)

(©) ean~ly ~ (d) log (tan~lx)

(D2=D)y=e* eresip 'a_lma;é;(a.a;@é swemuriger Hrlys sy :

(1) A+Be* (éci,) (Ax +B)e*

(@) A+Be™* () (A+Bx)e~*

The complementary function of the differential eqﬁaﬁon (DZ—D)y= e*is:
(a) A+Be ’ ®)  (Ax+B)e |

(c) A+Be™™ (d) (A+Bx)e™”

- [#muys / Tam over
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26.

27.

28.

29.

h=1 erafléd A(?) = |

(1) 21 (<) 22~1 (@) 2x+1 (m) 1
When h=1, A(x?) =

(@ 2x b)) 2x-1 () 2x+1 4 1

y=ar+b eremp CrpiGsmien 11 QuirmssicushaTer QudBlenawd swerLim@ser
10a+5b=15 wHmiid 30a+10b=43 < @d. Quurwsl Vsl Qurmsswrear
CrrGariger smile, :

(<) 1.2 (<) 1.3 (@) 1B (F) 12

The normal equation of fitting a straight line y=ax+b are 10a+5b=15 and
30a+10b=43. The slope of the line of best fit is :

(a) 1.2 b 1.3 © 13 ’ @ 12

X eremm @ wrluflen fapssey SILTEE ey f(x)=Cx(2—x), 0 < x < 2 eranm .
euETMISSLILILL e C-6 AL :

(@) 3 () (@) :

(m) <

=] w

- If the probability density function of a variable X is defined as f(x) =Cx(2~ x),0<x <2

then the value of C is :

- , | 3
@ 3 ® > © > @ 3

@G Umismer wrlufer S @S]mésasLb 2 erafled, Sigen syraf :

(@02 (a)s @) V2 (M %

The standard deviation of a Poisson variate is 2, the mean of the Poisson variate is :'

@ 2 ® 4 © @ 7



30.

31.

32.

33.

11 6078

AR (5 M1 L1 L u;reua%in srmrefl wHmb ureupuy WPanCu 8 wHmb 4 erafd
P(X=1)-ew wliLireng : ~

1 1 1 1
(=) 52 (=) 22 (@) 3% (") 510

The mean and variance of a Binomial distribution are 8 and 4 respectively. Then P(X=1)
is equal to : :

1 1 1 1
@ @ O © @ o

X ~N(8, 64) erafled, L @uidd Hlave o Z =

X —64 X -8 X-8 X-8
(@) —3 ()~ () —5— (™) ~&
If X ~ N(8, 64), the standard normal variate Z will be :

X —64 X~-8 X-8 X-8
@ 3 ®) © 5 @ 5

&EPHLIY wpep agangliamLuid QsuduGdpsg ?

(1) sy taTay () &p S0E

(&) yereflulwe apemenio () ppering QsmEd Siearey
The theory of sampling is based on :

(a) Sample size (b) Sample unit

() Principle of statistical regularity (d) Population size

NIEES55586 THCasTET o amawwTs Q@mbg, BrraNssluGeaughehu
Pepssa):

(1) e euansls Wanip (<) QrarLmb cuensLt Nenp
(@) &LnEUYL Wanp () Al Genip

Probability of rejecting, the null hypothesis when it is true is :

(@) Typelerror (b) Type II error

(¢} Sampling error (d) Standard error

[ Spliys / Turn over
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34,

35.

36.

37.

10 msrGeurirsafl ol (555 2 msrGaurisamears Qsfey Qauiuyib: m@mﬂm
TaTaRNGans : o

(=) 90 / ()60 (@) 45 (/) 50
The number of ways in which one can select 2 customers out of 10 customers is :
(a) 90 ®) 60 © 45 @ 50

2-6@ 1% Havoule Hrrafiyl s :

(<21) |2| = 1.96 (<) |7| = 2.58 (@) |2 <1.96 (FF) |z] > 2.58
The critical region for z at 1% level is : ‘ _
(@) |z = 1.96 (b) |z| = 2.58 © lz2<196 (d) |z >258

s &1 Ggmi euflesuded @mLriLg) :

(=) Qraw® syeer () ey smmiser
(8) prang sy (7) Qeupiled grgifidena
A time series consists of :

(@) Two components (b) “Thfee components

(c) Four coxhponents (d) None of these ‘

2485 sjarefed HweTUGEsUumn @Ol () eramsaier @g,ﬁlrrma;m
(=) Pleopudl i @sHriiser '
(=) Bleopuiirr @sSrrigar

(@) Peveowrer Gras)l_u_;ml_ui GSSrhiser

(FF) @eupdled eragferana

Most frequently used index number formulae are :

(a) Weighted formulae

(b) Unweighted formulaev

(c)  Fixed weighted formulae
(d) None of these |



38.

39.

40.

13 | 6078
em Qsmfpsrereulsd o pusd Qaiuiudn Qurndeaseiian LIMUTHSEESES
@eeu sTrERTOTELD : | '

(1) sHQFwe WwryrhHsET (<) EONAL L wryurhser
(@) (1) wipi> (<) @ramGid () (1) whpEd (<) Béee
Variation in the items produced in a factory may be due to :

(@) Chance causes (b) Assigriable causes

(©) Both () and (b) " (d) Neither (a) nor (b)

X wpmud Y eremuiar G wrhlsGeraie S HsuLED QmEsS Salqig) :
(@) @@ Gariy Cursas Car®

() @w Asmiy Curé@s Carhser

(&) epenm Qpmiiy CLTESS Carpasr

(7) @aupdéd gafidee |

If Xand Y are two variatés< there can be at the most :

(@) One regression line |

(b) Two regression lines

(c) Three regression lines

(d) None of these

Qam_iy Curé@ eranm CETaame sfipsu@sSueur :

(1) RA. Qegi (=) 5r'ra°q!.‘ilu‘rr‘6irr@-du a;rreblféh
(@) snid Guirgen (7) Qasisaie samb oo

The term regression was introduced by :
(3) R.A. Fisher (b) Sir Francis Galton

(c) Karl Pearson (d) None of these

[ &LiLs / Turn over
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GOl : gCsaid Lss amésEnse WP edamLwiaiEseywb.

Note :

41.

42,

43.

44.

14

UGSl - 3/ PART - B

Answer any ten questions.
(1 -1 1 |
A=12 1 1 |eeam semflég |Adj Al=|AR eremuess sfumiss.
3 1 -1 '
1 -1 1
Given A=12 1 1 |, verify that |Adj A|=]A]?
3 1 -1

2x+3y—z=5, 3x—y+4z=2, x+7y—6z=k T &FLo6TUT(H&ET @uqmmg
SETEOLOWL|GNL U FaUTB&6T erafle) k Qe wHliamLs sres.

Find k if the equations 2x + 3y—z=5,3x~y+4z=2, x+ 7y—6z=k are consistent.

@edub (2, ~1) Qus@eumy x—5=0 LHYL ELLSAST@DESSE -;- o enLul

Bateul L sHle sLoaTLT L STams.

Find the equation of ellipse whose focus is (2, —1) directrix is x—5=0 and. eccentricity
1.

is —.
2

Spaumb Caameu wpmb iefliys sriysefen Fwenblenad ellepaenwiwbd, o6
BHlena GCoameuamuiwibd &rears.

' qq=4-0.05P and q,=0.8+0.11P

Find the Equlhbnum Price and Equlhbnum Quanhty for the following demand and
supply functions.

qq=4-0.05P and q,=0.8 +0.11P

10x6=60



45.

46.

47.

48.

49,

15 | 6078

x +4
x +3

Qeaayé sTiLy y =2x( )+3 56 Qud Peowé Qswurag, o Husd x

&stﬂé;@ﬁb QuITps Qg,ﬁl;ﬁéé]uwa; Geondngl erar ‘r_F,]QJma;‘.

For the cost function y =2x(x :;) +3, prove that the marginal cost falls
X o

continuously as the output x increases.
y=x4—43+2x+3 erap eueereuenuie euenatey THOHLI LeTaflsamers srems.

Find the points of inflection of the curve

y=x*—4x3+2x+3

x SGsd 2 Husduler @udHae Qsawey MC=6+10x—6x% HYID 1 HOEG
o HusHéarar Qs Qsmay 15, arafd Quwrss GFaelF sy wHYLD sFra
Osawe| ueupenp SRS,

The marginal cost function of manufacturing x units of a commodity is
MC=6+10x—6x2 Find the total cost and average cost, given'that the total cost of
producing 1 unit is 15.

8iréa : (1—e*) sec?y dy+3e* tan y dx=0.

Solve (1—-e*) sec?y dy+3e* tan y dx=0.

Birés : logx% + % =sin2x.
Solve logxﬂ + ¥ = sin2x.
d« «x

[ HpLliys / Turn over
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50. f(0)=5, f(1)=6, f(3)=50, f(4) =105, erafe @wa;;rrr@eﬂuﬂm @g,g]ug,mgsu
Lweru®ES) f(2) -6 wHliewLs STars.

If f(0)=5, f(1) =6, f(3)=50, f(4)=105, find f2 by‘ usﬁg Legrange's formula.

51. rGlasrr@ésasuuL'_@dTm elleurmusEns@ @ Critsrh Qurmsss :

- 52, @Gy swgdled 10 pramubiser sam LL@Semer. GoDBSULFD 7 SmEET
' eflpaugparar Hapssamen sa@T® 9y ss6Lb. :

Ten coins are thrown simultaneously. Find the probability of getting atleast 7 heads. -

53. COgravessr’ 8 flspsfsamear urriCurisafld 1000 Cufler 320 Guirsdr e

GOLEL L Blaspsflenws urisgent. Qsrenasar S srarGuirt S EOETEUEFULD

- QararL wuews QsTEHANBHS <ibs Hapssawl urrrrg,g,mrra;mﬂm
Greao'razfﬂa;ma;a;a;rrm 95% BIDLNGME CTOMMGMETS &T6HTs.

Out of 1000 TV viewers, 320 watched a particular programme. Find 95% confidence
limits for TV viewers who watched this programme.
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54. uEHs srrafl e eabd EpsseT aﬂmn@&@é;@ Cursg wHlysemer
sear(Rlg SEeLb ' |

<p@r(® | 1980 | 1981 | 1982 | 1983 | 1984 | 1985 | 1986
efpLienar| 102 | 105 | 114 | 110 | 108 | 116 | 112

Find trend values to the following data by the method of semi-averages :

Year 1980 | 1981 | 1982 | 1983 | 1984 | 1985 | 1986
Sales 102 | 105 | 114 | 110 | 108 | 116 | 112

55. 1999 QD YT 3ilq LILIGHL WLITES Q&rreo’vf@, 2000 g4,1b paTiqHE Debeumid
deirrisamears Qaran® Qwrsss Gewe wemuld urpsmss g7
GO QL arenewté srams; :

Qg Slemey (&.4) eleway
1999 1999 2000

A 6 5.75 6.00

B 1 5.00 8.00

C 6 6.00 9.00

D 4 8.00] 10.00

E 2 2.00 1.80

F 1 20.00f 15.00

Construct cost of living index for 2000 téking 1999 as the base year from the following
data using Aggregate Expenditure method :

Commodity Quantity (kg) | Price
1999 1999 | 2000
A 6 5.75 6.00
B 1 5.00 8.00
C 6 6.00 9.00
D 4 8.00| 10.00
E 2 2.00 1.80
F 1 20.00f 15.00

[ SigpliLys / Turn over
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| LGS - @ /PART - C
GOILY : gCaaud LSE) eréaendé@ oL Hib aﬁ]mL_Luaﬂésa;me. ~ 10x10=100
Note : Answer any ten questions. °

56. Q@QJGQJQJ 51® eighismenyeLw A, B, C eram eLP GBI Qurr@&ra;md;r asl_;r,g
e wrshisaile @@ edhumanurert ehLmer Celigsharer eNeurrisar
ECLpujaTer oL eneueneanTudch QarBésiuL (Hererer. SREPEII

.| buemer Qelig oe@ser Qupm Qwrss srs
LOMGBIGET ) -
A B C (emumuled)
Faour 90 100 | 20 x 800 :
Qrigaufl | 130 50 40 900
OiTE 60 100 30 850

A, B, C eremn CummeraErsster s7@ eigsmss srans. Srmofer wpenpulied
SirésmeyLb. X

A salesman has the following record of sales during three months for three items A, B
and C which have different rates of commission. ‘

Sales of units Total commission = |. .
Months — ' . :
A B C drawn (in %)
January 90 100 20 800
February 130 50 40 900 .
March 60 100 30 , 850

Find out the rates of commission on the items A} B and C. Solve by Cramer;s rule. -



57. P ummib Q eresrm Qw an@ﬁ&nmw&mﬂe&r'@u#@mr@mj Siewiber eeurhiser
(emumis Gamg sefie) ECY QerRssliL_ (Herater.

38.

59.

19

2 pusBuneni- P,&”@m‘@ug S Qs Gamas | Guorss o buss
P 50 75 75 200
Q. 100 50 50 200

6078

P@m @gﬂﬁg @g,ém@' 300 said Q Qe @mid Caemes 600 y&a D WIHYLDH
Gurgl sleupilen 2 HLSEH Sieroysmans srams.

The data belowi are about an economy of two industries P and Q. The values are in
crores of rupees., '

Producer 5 UserQ Final Demand Total output
P 50 75 75 200
Q 1 100 | 50 50 200

Find the og}-pﬁts when the final demand changes to 300 for P and 600 for Q.

Q&n@é;_a;ihut'.L &g]ul;rmmerru_lgﬁm @g,rrmcug QsrhHCar@®sefen
5L13,,Giirurr®asmqrés &GRS, . : '

3x2—5xy —2y2 +17x +y+14=0
Find the Equation to the asymptotes of the hyperbola
3x2—5xy —2y2 +17x +y+14=0

x2+:yyj2—,2x—.4y-|‘-1_fo,:.Gr@ub ULLSAMDG erliyerefudd Qgrr@@&rr@'

| DADLEETD G| (i) x-DFEEG (i) y-NEFES BavemTurs Q@mE@GL ?

At what points on the circle x2+y2—2x—4y+1=0, the tangent is parallel to (i) x axis
@yads? | *

[ Hlpliys / Turn over
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60.

61.

62.

63.

20

@@ Hmeuersden Qmwg,g, 2 pusd Qswe] WHHILD eu@eurru_l @cbeﬁu_lm |
C=x3—12x2+48x+11 wpmd R=83x—4x2—21 eTam 2 GTeTeT.

(@) eumeur QuEBL wHlienus SieLL Qurpg
@) @erub Qu wHlieu Quub QUIEIL ger 2-HuSSl eremer ?

The total cost and total revenue of a firm are given by C=x>—12x2+48x+11 and
R=83x—4x2—21. Find the output.

() When the revenue is maximum

(i) When profit is maximum

y grénp Quirpefian Gaavas qp = 12— p; +pyp, ereflab, py=10 b p,=4 @&
LGS QpSlpsSamens sraEs. »

The demand function for a commodity y is q =12- p% + p,p, - Find the partial
elasticities when p; =10 and p,=4 ‘ ‘

m,

T
LDQLHE]@&;: _[ as.mx + bcosx dx
0 sinx*+ cosx

2 . .
Evaluate _[ as.mx + b cosx dx
sinx + cosx

1 ..
Gzenes wHMID Sieflliyg srysefar cumareuaraerFy = ;—f—4 wombd Ps = %
o Qsr@ssiul_@ererg. eAwrurys shaoguld Fomer ﬁlm@)uﬂaﬂ &1
HsTCeourt HOID 2 HuSHuimerT GTEFLILTDSETE HTETs.

: 16 .
The demand and supply curves are given byFyq = 2 and Ps = % Find the

+ 4
Consumers' Surplus and Producers' Surplus at the Market Equilibrium Price.
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21 6078

X

&8 : (1502 2D ~1) y =e3 + 5

x

Solve (15D2 2D — 1) y =e3 + 5

x: | 0] 1] 23] 4
y: | 176 | 185 | 194 | 202 | 212

rars Qsr@s&sLLlyBEGL QuTg, ¥=0.2 erafld, y-ar wHliomus sres.
(AACarfl - Hu L afen GsArsems LLELOSSS)

Find y when x=0.2 .givén that :

] o0 112137 2

y:|176 | 185 | 194 | 202 | 212

sin regory - Newton's formula
U‘gG gory - N 's f ul

;'%ggésa;as'zsn_ Bapsse uraugidsrar syref wHmD UU’G\Jﬁ)UI.;‘_ g Flweaihens:

SIS,

A 272 x>0
x =
R e

Find the Mean and Vaﬁance for the following Probability distribution. -

_J2e™%* x>0
-

, x<0

[ $Liys / Turn-over
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68.

22

Gaire erpdweursefelmbg 1000 pLfEmers QaTam gy aThssHa srref
wHUQuaTST 45 LHMID HiLelassd 15 rar o arerg. @ULIFeld, @u.m)
Blanaoudleh o ereng) erens Casmarm(, &pa;asm&..@_lmmgpa; TGS,

() 40 wHMId 60-G@ED @enLufer WwHLIGILIekT G]u,r_bgpmr'rasei‘r Grg,jg,mco'r Curr ?
(i) 50-&@w Cuwe wHLQUET QubpeuTadr erdsamer Gur ?

(i) 30-5@WL & LAUQUET QUppeuTser erigmar GuIT ?

Z 0.33 1

In a sample of 1000 candidates the Mean of Certam test is 45 and S.D 15. Assummg
‘the normahty of the distribution find the following ;

(i) How many candidates score between 40 and 60 ?. .
(i) How many éandidates score above 50 ?

(iii) How many candidates score below 30 ?

7 | 033 1
Areal| 0.129310.3413

400 LDTERTEU T 6T Qasrrmm_ O mBg leuisafen srmafl 2_U_IIJ'LD 171.38
Qg.15. erew él[ﬁ]U_II_ILJI_I_QJ gymafl 2wy 171.17. Q&.8. wHmIbd é]l_L_QEﬂGD&SBSLD
33 Qo.8. eres QararL  pueows CsreHldmGHsl  iEFmm
a@a;a;uuu_g,rra;a; a;@g,mrrmrr eran 2Lrmius. (5% @a;a%]u_lggjm TR 7.3 P

GCorgdlés).

A Sémple of 400 students is found to have a Mean height of 171.38 cms. Can it réasonably
be regarded as a sample from a large population with Mean height of 171.17 cms and
standard deviation of 3.3 cms. (Test at 5% level).
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70.

23 ~ | 6078
51, +20x,=<400
10x, + 15x,=450
xy, %20 -erénp S HUUTHSERES s

z=45x;+80x, -ar QL wHlmu euerULSHer ppald Srems.

‘Solve the following, using graphical method

Maximize z=45x, +80x,

Subject to the constraints
5x; +20x,<400
10x; +15x,=<450

X1, X520

Gumrmeflufne wpmib Lerafudweld 10 wremeursar QuHp mﬁﬂ@ue&w&;d'r 3(8;.9

Qar@ésiiuc Rereng)
AU T 1. ~
- |Gur@aidiue 25|28|35(32(31|36|29|38]34]32
HUCLeTEET X : .
Hemafluiuid 43|46|494136|32(31(30]33]39
wHIQuaTEFT Y : ’

() X-er Sgrem Y-eér Qsmiiyl Curs@gs Carliger FoarurlieLé
san(hi9ig.&s.

@ Curmgeflweiad 30 wAHLGuETsHE QubBHHSTD qmaﬂuﬂu_lcﬁlw Qupyb
wileous sansd@s.

Marks obtained by 10 students in Economics and Statistics are given below :

Marks in Economics X : | 25]28]35]32]31] 36 2913813432

Marksin Statistics Y : |43 (4649({41(36(32]31{30(33]39

Find () The Regression Equation of Y on X.
(i) Estimate the marks in Statistics when the marks in Economics is 30.

.00(;?-







